5 113 G8 CH 14 WS 7 Factorization

Factorization: Worksheet -7

1. When x2 + 6x + 8 is divided by x + 4, then quotient is [ |
a)jx+3 b) x + 2 c)x-3 d) x2 + 2

2. If (a + 2) (Ba— 1) + 9 is of the form; [divisor X quotient + rem] then
dividend is [ ]
a)3az2+9 b) 3a%2 + 5a + 6 c)3a2+ 5a+5d)3a2+5a+7

3. The remainder when x3 + 3x2 + 3x + 1 is divided by (x + 1) is | ]
a) -1 b) 1 c)O d) 2

4. Ifx +y =12 and xy = 14 the x2 + y2 = [ ]
a) 144 b) 128 c) 116 d) 172

5 5.27 X527 X 5.27 -3.271 X3.21 X3.27  _ [ ]
" 5.27X5.27+5.27 X 3.27+3.27 X 3.27

a) 2 b) 3 c) 4.5 d) 3.27

6. The L.C.M of (16 —x2) and (x2 + x — 0) is [ ]
a) (16 -x2) (x-3) (x+2) b)(16-x2) (x+3)(x—-2)
c)(16-x2) (x-3)(x-2) d(16-x2)(x+3)(x+2)

7.1f 25x2 - 20x + k is a perfect square then k = [ ]

a)l b) 2 c) 3 d) 4
8. x?+5x+6 = (x+____)x+3) [ ]
al 1 b] 2 c]3 d] 4
9. (x+a)x+b) = x*+3x+2,thena=___ __ ,b=_____ [ ]
a] 3, 2 b] 2, 1 -2, 1 d-2,-1
10. (x—a)x+3) = x*—x+b thena=___ __ ,b=_____ [ ]

al-4,-12 — bl4,-12  c]-4, 12 d] 4, 12
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